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1. | Mstéw 20 | 20 16 | 6,5 11,5 | 11 12 | 12 16 | 18 7,5 1545 170,5
2. | Widzéw 6,5 6,5 [95|14 | 11 | 14 1 | 6 14 |18 |20 | 115|115 153,5
3. | Rudniki 12 | 18 14 | 16 14 10 10 | 10 11 115
4. | Kruszyna 14 | 9 3 11 13 6 16 |16 | 11,5115 111
5. | Leléw 11,5 20 13 | 20+10 | 18 18 110,5
6. | Borowno 2045 | 16 14 7 20 20 102
7. | Cykarzew 16 12 14 16 12 18 14 102
8. | Poczesna 16 12 10 16 18 | 8 20 100
9. | Konopiska 9 14 20+15 20+10| 9 97
10. | Olsztyn 16 20 | 18 20 15+5 94
11. | Czarny Las 11 {20 | 20 18 18 87
12. | Mykanéw 11,5 | 20 9 9 16 16 81,5
13. | Blachownia 16 6,5 |18 14 18 72,5
14. | Redziny 14 3 11,5 | 18 20 66,5
15. | Kamienica 14 | 14 11 14 53
16. | Koniecpol 2 6,5 9,5 20 16 52
17. | Koniecpol 1 12 3 9,518 42,5
18. | Konary 6,5 14 16 36,5
19. | Starcza 18 | 18 36
20. | Przyréw 9 11,5 | 11,5 32
21. | Wrzosowa 15/15 | 30
22. | Zrebice 16 12 28
23. | Witkowice 12 7,5 19,5
24. | Ktomnice 18 18
24, | Zawada 18 18
26. | Skrzydiéw 16 16
27. | Aleksandria 11 11
28. | Garnek 10 10
29. | Huta Stara 9,5 9,5




